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" SKILL PRACTICE

LY

1. VOCABULARY Copyand complete: A number is a(n) 2 if it can be written

a

in the form b where a and b are integers and b # 0. rational number

2. VOCABULARY What is the opposite of —2? 2

3. % WRITING Describe the difference between whole numbers and
positive integers. Zero is in the set of whole numbers, but not in the set of positive integers.

4, % WRITING For a negative number x, is the absolute value of x a positive
number or a negative number? Explain. Positive number; the absolute value of a negative
number is always positive.

GRAPHING AND COMPARING INTEGERS Graph the numbers on a number
line. Then tell which number is greater. 5-13. Check students’ graphs.

5 0and7 7 6. 0and —4 0 @—5 and -6 -5
8. —2and -3 -2 9 5and -2 & 10. —12and8 8
11. —1and -5 -1 12. 3and —13 3 13. —20and -2 -2



—

CLASSIFYING AND ORDERING NUMBERS Tell whether each number in the
list is & whole number, an integer, or a rational number. Then order the
numbers from least to greatest. 14-22. See margin.

4. 3, -5, -2.4,1 I5. 16,1, 4,0 16. 0.25, —0.5,0.2, -2
2 1 1 5

7. -2, -06,-1,1 18. —0.01,0.1,0, —35 19. 16, ~1.66, 3, ~16

20. -27,1,03,-7 21 —4.99,5,%, —51 22. -2 —0.4, -1, -0.5

FINDING OPPOSITES AND ABSOLUTE VALUES For the given value of a, find

-aand |al.

7% a=6 66 2M.a=-3 33 5. a=-18 18,18 26 a=0 0,0

77. a=134-134,13428. a=27 27,27 @ a=-616161 30.a=-79 79,79
— _q1 41 41 __5 656 3 31 — g1 _q1 4f

Ma=-1l il moa=-% R0 33.a=3_313 38 a=11 <11l

ANALYZING CONDITIONAL STATEMENTS Identify the hypothesis and the
conclusion of the conditional statement. Tell whether the statement is truse
or false. If it is false, give a counterexample.

35. If a number is a positive integer, then the number is a whole number.
- Hﬁpnmnals: a number is & positive integer, conclusion: the number is & whole number; true.

A
8.

.

a number is negative, then its absolute value is negative.
If a number is positive, then its opposite is positive.

If a number is an integer, then the number is a rational number.
Hypothesis: & number is an integer, conclusion: the number is & rational number; true.

% MULTIPLE CHOICE Which number is a whole number? A
@® |- | ® -3 @ 16 @ —(-7.963)

ERROR ANALYSIS Describe and correct the error in the statement. 20, 41. S22 margin.

40.

4L
The numbers —[—2), —4, The numbers | —3.4 |, —(—8).
—|8|.and —0.3 are —|-0.2], and .87
negative numbers. ane positive numbers.

EVALUATING EXPRESSIONS Evaluate the expression when x = —0.75.

42,
46.

50.

51

-x 0.75 43. |x| +0251 44 x| - o075 o 45, 1+ |-x| 175
2.(-x1 15 47, (—x)-3 235 48. x| + || 15 49, —x+ |x| 15

* MULTIPLE CHOICE Which number is a solution of |x| + 1= 137 B
Ay —23 B —0.3 € 1.3 (o 2.3

CHALLENGE What can you conclude about the opposite of the opposite of
a number? Explain your reasoning. It is the original number. Samp/fe saswer:The opposite
of #is —#and the opposite of —z is 5 which is the original number.

. CHALLENGE For what values of a is the opposite of a greater than a? less

than a? equal to a? See margin.



Er

HH
nal

ila-
om
ture

5ob. Rigel's
apparent
magnitude is

reater than the

un's apparent
magnitude, 50
itis dimmer
than the Sun;
Rigel's absolute
magnitude is
less than the
Sun’s absolute
magnitude, 5o 1t
is brighter than
the Sun.

5oc. No. Sampie
anaver The
mpparemt
magnitude of
Arciurus is less
than the rent
mauniudaelﬁlaf
Achermar, but
the absolute
magnitude of
Arciwmus is
reater than [T}
the absolute
magnitude of
Bchernar.

58. % EXTENDED RESPOMSE Asiar's apparent magnitude measures how
bright the star appears to a person on Earth. A star's absolute magnitude
measures its brightness If it were a distance of 13 light-years, or about
184 trilllion miles, from Earth. The greater the magnitude, the dimmer
the star.

star Arcturus | Achemar | Canopus | Capella | siws | sun
Apparent B . N B
magnitude g | a6 0yz | ouoE ‘ 146 2672
Absolute
magniwde 02 -1.3 -25 | 04 ‘ 14 448
Owrion
a. Order Order the stars in the table from brightest to dimmest when Conseellation
vlewed from Earth. Then order the stars from brightest to dimmest 52a. Sun,
If they wera 33 lght-years from Earth. Siriusz,

b. Compare The star Rigel has an apparent magnitude of 0.12 and an E?:m?

ahsolute magnitude of —&.1. Compare Its brightness with the Sun's Capella,

brightness using both apparent magnitude and absolute magnitude.  Acharnar;
c. Analyze Can you use the apparent magnitudes of two stars to predict E:"r.:'r]#:'r'

which star Is brighter in terms of absolute magnitude? Exgplain your  Arctunus,

answer using a comparison of the apparent and absolute magnitudes  Capella

of two stars in the table. Sirius, Sun

B0. CHALLENGE Inan academic contest, the point values of the questions
are given by the expression 50x where x = 1, 2, 3, and 4. You earn
50 polnts for a correct answer to a question and —(50x) paints for an
Incorrect answer. Order from least to greatest all the possible polnts you
can earn when answering a question. —300, —150, —100, —50, 50, 100, 150, 200
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63 em
Check whether the given mumber 15 a solution of the Inequality. @ 21/
BT. X+ 2+<3; 2 notasolution BB y — B<6; 13 solubion B9, 9 — 2:< 33 solution
TO. 2y + 3= 14; 5 not & solution 71, 3 =71 — 4; 1 not a solution 72 2a: 15 7 ot a solution

Make a table for the function. ideniify the range of the function. @ 43 73-75. See margin.
T y=a—3 M. p=L5x Th y=2x—-3
Domeain: 5, 8, 14, 30 Domain: & 2, 6, 10 Domain: 2, 4, 7, 11
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